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1. 次の英語を日本語に直しなさい。 【２点×４＝８点】 

(1) structure (  ) (2) furthermore (  ) 

(3) primary (  ) (4) concept (     ) 

 

2. 英文の意味が通るように，適したものをそれぞれ選びなさい。        【２点×３＝６点】 

(1) Your future depends ( from / of / on ) how much effort you make.  （   ） 

(2) She reminds me ( from / of / on ) her mother.  （   ） 

(3) Arctic ice is melting ( at / to / on ) amazing speed.  （   ） 

  

3. 下線部の発音がほかと異なるものを１つずつ選び，記号で答えなさい。    【２点×３＝６点】 

(1) ア light イ nobility ウ glitter （   ） 

(2) ア conservation イ head ウ place （   ） 

(3) ア approach イ boldly ウ abroad （   ） 

 

4. 次の日本文に合うように，（ ）に適切な語を入れなさい。  【完答４点×３＝12 点】 

(1) 社長を含めて５名がその会議に出席した。         

Five people, (      ) the president, attended the meeting. 

(2) 自分の行動には自信を持たなければならない。 

You have to be (      ) (      ) what you do. 

(3) その報告書を初めから終わりまで，ざっと読み通した。 

I read the report from beginning (      ) end. 

  

5. 次の英文を日本語に直しなさい。 【５点×３＝15 点】 

(1) This tower should serve as a symbol of Fukuoka. 

 （  ） 

(2) This is the very place we first met each other. 

 （  ） 

(3) I was born in 1996, when my father was transferred to London. 

 （  ） 

 

 

確認テストは「標準（Ａ）」と「発展（Ｂ）」

の 2 種類を用意しました。 



MAINSTREAM English Communication Ⅲ Second Edition 確認テスト 

 

確認テスト 

6. 次の日本文に合うように，（ ）内の語（句）を並べ替えなさい。 【５点×３＝15 点】 

(1) 今日は天気が良くないけど，たぶん明日にはよくなるだろう。 

The weather isn’t good today, but ( be / better / expected / it’s / to ) tomorrow. 

The weather isn’t good today, but                         tomorrow. 

(2) 日本は地震が多いという事実を考慮に入れなければならない。 

We ( account / into / must / take / that / the fact ) Japan has many earthquakes. 

We                               Japan has many earthquakes. 

(3) この彫刻は，男性が何かを考え込んでいるところを表現している。 

This sculpture ( a man / about / represents / something / thinking hard ). 

This sculpture      . 

 

7. 次の英文を読んで，後の設問に答えなさい。 【計 38 点】 

 The Tokyo Skytree is now the tallest tower in the world. ①The entire structure, including its 

foundation, lighting, painting and elevators, is said to be the fruit of Japan’s latest technology. 

It was completed in February 2012 and ②( open ) to the public in May 2012. People ③( are / 

enjoy / queuing / to / visiting ) this broadcasting tower with observation floors and restaurants. 

④Besides its major role in transmitting digital terrestrial broadcasting, it is also ⑤( expect ) to 

serve as a tower with a disaster-prevention function at times of natural disaster.  While it has 

such practical functions, the design of the Tokyo Skytree represents messages about our past, 

present and future. 

 

(1) 下線部①を日本語に直しなさい。 （８点） 

(   ) 

(2) ②，⑤の（ ）内の語をそれぞれ適切な形に直しなさい。 （２点×２＝４点） 

 ②             ⑤            

(3) 英文の流れに合うように，③の（ ）内の語を並べ替えなさい。 （６点） 

  

(4) 下線部④を日本語に直しなさい。 （８点） 

（  ） 

(5) 次の英文の内容が上の文と合っていればＴ，違っていればＦの記号を書きなさい。 

（６点×２＝12 点） 

   ア No other tower in the world is so tall as the Tokyo Skytree. （   ） 

   イ The Tokyo Skytree never has practical functions. （   ） 

 

 

 


